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ELECTIVE COURSE : COMMERCE 

ECO-8 : COMPANY LAW 

Time : 2 hours 	 Maximum Marks : 50 

(Weightage 70%) 

Note : Answer any five questions. 

1. (a) Explain one man company. 	 5 

(b) "A certificate of incorporation is conclusive 	5 

evidence that all the requirements of the 

companies Act 1956 have been complied 

with." Explain. 

2. (a) What are "Articles of Association" ? How 2+3 

can these be altered ? 

(b) Explain the law relating to forfeiture of 	5 

shares. 

3. When is the allotment of shares irregular ? State 5+5 

the consequences of irregular allotment. 
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4. 	(a) What is annual general meeting ? What 2+3 

business is usually transacted at such a 
meeting ? 

(b) Point out the difference between ordinary 	5 
resolution and special resolution giving 

examples. 

5. 	Discuss the rights and duties of directors of a 5+5 

company. 

6. 	Distinguish between : 	 5+5 
(a) Share certificate and share warrant 

(b) Equity and preference shares. 

7. 	Discuss the legal position cf a company secretary 5+5 

and state his main functions. 

8. 	What do you mean by 'winding up' ? State the 4+6 

grounds when a court can order winding up. 

9. 	Write notes on any two of the following : 	5+5 
(a) Prospectus 

(b) Pre-incorporation contracts 

(c) Quorum 

(d) Legal position of promoters 
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1. (a) 	ibs-11-1 (one man)  	ldf t? 	 5 

(b) 	" 	M1-111-11- 117 	qicf 	f 	1UI1 ch TrR--TI 	5 

ildft 	3-1fqr-971T1 1956 

t -FrIti" 	 

2. (a) 	3 	i cNi 	 t? 	f*--T1 -gq-,R A -9-fta--4-9-  2+3 

s7T 	 

(b) 	tit chi 7-1.  (forfeiture) ti4-si4-ft 	 5 

3. tzit)'T3Ti-97:rWd 3-Tfr4Z-ff *01 cl 	I t ? 31-1-T4-P:rd.  3-TT 4a7 5+5 

LIrtuil44 c I 

ECO-8 	 3 	 P.T.O. 



4. (a)  2+3 Trm-R-trr qrft ---  TNT ci I t ? m.TT -14 .k.-11H1-1d: 

q7Err 	f-*-Tfr \311c11 

(b)  Trrq-RErr 	fq'R-1.11 -ict dqltui 5 

5. 5+5 afq--*-R ml fq-k-q-i 

6. 5+5 F-H-ircirod 3.1- 	: 

(a)  

(b)  
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7. 5+5 Trf-qa 	fR-it a7Eii -ia-uq t? 

ch1 cqRsii 

8. -14-114.1 4+6 

f --9-4 -qv-1mq 31-rk7r 

-111711t? 

9. Oci -4 74 	T 1:17 R 	rui li f7tI7 5+5 

(a) lAracitul 117 

(b) f97117 11-4 3-TV4 

(c) )-1*4-1 

(d) ft-2Tfu 
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